BB ——D >y FlF AIlr'TAC
F1-T——XSH

PH  PHF
H K 1 Y RB ]
; C 3] [ T
0 | [ & — i - —
—-< -1 s ¢ = 1l
v 8 B 5 N T VY S B |
1 L BNE P un
| - - =
R = R p i sl B f \RA
R
Bi/3S oD R | oP| L C K | E  #@H| EE(g) ®R/ZS/0D| RA | RB OP LA LB| C K | E [saHER(g)
PH4M5 | |M5x0.8| 9 | 35|17 | 14 | 19 | 8 | 58  PHF4MS| , M5x0.8/M5x0.8) 9 (3.5 6 |20 14|19 8 | 62
PH401 1/8" | 9 | 7.5| 25 | 14 |20.5 11 | 12.8 | PHF40l 1/8" | 1/8" | 9 7.5 8 [29.5 14 [20.5) 12 | 12.9
PHEMS M5x0.812.5| 3.5 | 17 |16.5/23.5 8 | 6.8 | PHF6M5 |M5x0.8/M5x0.8(12.5 3.5 6 | 20 16.523.5 8 | 7.1
PH601 | | 1/8" [12.5/ 7.5 25 [16.5/ 23 | 11 | 14  PHF601| | 1/8" | 1/8" [12.57.5| 8 20.516.5/23 | 12 | 13.9
PH602 1/4" 12,5 10 | 28 [16.5| 25 | 14 | 25.4 | PHF602 1/4" | 1/4" [12.5 10 | 11 | 35 [16.5 25 | 17 | 30.3
PH603 | 3/8" [12.5| 11 | 33 [16.5] 27 | 19 | 50.2 | PHF603| | 3/8" | 3/8" [12.5 11 | 12 | 40 16.5/ 27 | 19 | 44.2
PH801 | 1/8" | 15 | 7.5 | 25 |18.5|26.5 11 | 14.7 | PHF801| | 1/8" | 1/8" | 15 7.5 8 [29.518.5726.5 12 | 15
PHBO2 | g L4 |15 | 10 | 28 |18.5 28.5 14 | 26.4 | PHF802 g | 1/4" | 1/4" 1510 1135 18.528.5 17 | 30.7
PH803 3/8" | 15 | 11 | 33 |18.5 29.5 19 | 49.4 . PHF803 3/8" | 3/8" | 15 11 | 12 | 40 18.5[29.5 19 | 44.8
PH804 | 1/2" |15 | 14 | 39 [18.5| 32 | 24 | 89 | PHF804| | 1/2" | 1/2" |15 14 13.547.5/18.5/ 32 | 24 | 84.7
PH1002 1/4" |18 | 10 | 28 | 21 | 31 | 14 | 27.7 | PHF1002 | 1/4" | 14" |18 10 | 11|35 21|31 | 17 | 32
PH1003| 10 | 3/8" | 18 | 11 | 33 | 21 | 33 | 19 | 51.1 | PHF1003/ 10| 3/8" | 3/8" |18 11 |12 | 40|21 |33 | 19 | 46.2
PH1004 1/2" | 18 | 14 | 39 | 21 [35.5 24 | 88.5 | PHF1004 | 1/2" | 1/2" |18 14 13.547.5/ 21 [35.5 24 | 86.1
PH1203| | 3/8" | 21 | 11 [ 33 | 23 | 36 | 19 | 53 | PHF1203 | 3/8" | 3/8" |21 |11 12|40 23|36 19 | 484
PH1204 1/2" |21 [ 14 [ 39 [ 23 | 38 | 24 | 92.8 | PHF1204 12" | 1/2" | 21| 14 13.547.5 23 | 38 | 24 | 89.7
PEB : PYB DC
o ' 2-0P g : ey
\') P 2-0D : ({,
_ I e | )
2 33 .
o ! N
o &)
= ® M5 {tik ;
o | M5t
s ;
. H -~ | S—
= A e
R~ R
B{/ESE D R ®P L K EA EB o] 1B #hOHEE(g) BK/ESE 6D R OP L C K @1 JA DC 3illH Sii(g)
PEB4MS |  |M5x0.8 9 |35 14 17 |21 |3.2|65| 9 | 68  PYBAMS  |M5%08| 9 [3.535.5 14 32 13|10 9 | 6.7
PEB401 | 4 | 1/8" | 9 |7.5 14 17 |25 32|65 10 | 88  PYB401 4 |1/8"| 9 [75395 14 32 13|10 10 | 9
PEB402 14" | 9 [10 | 14 17 |28 [32]65 | 14 | 155 | PYB402 [1/4" | 9 |10 42,5 14 |32 13 [ 10 | 14 | 108
PEB6MS5|  |M5x0.812.5 3.5 165 20 235/3.2| 8 12 | 112 | PYB6M5  M5x0.8 12.5 3.5 40.516.5 3.2 155 12 | 12 | 11.1
PEB601 o e 12.5/ 7.5 16.5| 20 27.5/3.2| 8 | 12 | 135 | PYB601 | & | 1/8" [12.5) 7.5 [44.5[16.5| 3.2 [155| 12 | 12 | 13.7
PEB602 114" [12,5/ 10 16,5 20 30.5/3.2| 8 | 14 | 186 ' PYB602 1/4" [12.5] 10 [47.5[16.5/ 3.2 [15.5] 12 | 14 | 18.2
PEB603 | 3/8" |12.5| 11 165 20 32 |32 | 8 | 17 | 253 | PYB603 [ 3/8" [12.5 11 49.0/16.5 3.2 155 12 | 17 | 25
PEB8O1 | 1/8" | 15 | 7.5 18.5| 23 30.5/4.3 |9.5| 14 | 184 . PYB801 | 1/8" | 15 |7.5| 50 |18.5|3.2| 17 [14.5] 14 | 19.8
PEBS02 g | 14|15 110 (185 23 | 33 |43 |95| 14 | 21.3 | PYB802 g | 1/4" |15 |10 52.5(18.5 3.2 | 17 [14.5 14 | 22
PEBS03 3/8" | 15 | 11 185 23 34543 95| 17 | 282 | PYB803 | 3/8" [ 15| 11 | 54 [18.5/3.2 | 17 [14.5] 17 | 277
PEB804 | 12" | 15 | 14 185 23 (38.5/43 |95 21 | 41 | PYB804 | 1/2" |15 |14 |58 [18.5 3.2 | 17 [14.5) 21 | 40.8
PEB1001 118" | 18 7.5 21 265/ 34 (43| 11 | 17 | 267 | PYB1001 1/8" | 18 [7.5/56.5 21 | 4.3 195/ 18 | 17 | 27.4
PEB1002| | 114" | 18 10 | 21 26.536.5/4.3 | 11 | 17 | 29.2 - PYB1002| 174" 1810 |59 | 21 | 4.3 195/ 18 | 17 | 29.5
PEB1003 38" | 18 | 11 21 26537.5 43 11 | 17 | 31.9 | PYB1003 3/8" 18 |11 |60 | 21 4.3 195 18 | 17 | 325
PEB1004 112 |18 | 14 | 21 26541543 | 11| 21 | 454 | PYB1004| | 1/2" 18|14 |64 | 21 4.3 195 18 | 21 | 45.4
PEB1202 14" [ 2110 | 23 (30 |41 [43[ 13| 21 | 496 | PvB1202| | 1/4" [21[ 1066 | 23 |43 21 [205] 21 | 27.3
PEB1203| 12| 3/8" |21 | 11 |23 |30 | 42 (43|13 | 21 | 51.2 | PYB1203 12 | 3/8" |21 |11 |67 | 23 |4.3| 21 205/ 21 | 5138
PEB1204 12" [ 2114 23 30 |45 |43]13 | 21 | 573 | PYB1204| | 1/2"|21[ 14|70 23 |43 21 [205 21 | 56.8

V4 305



